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December, 2019 

LIFE SCIENCE 

LSE-05 : PHYSIOLOGY 

Time : 2 Hours 	 Maximum Marks : 50 

Note : Use separate answer sheets for Part I and 

Part IL Be brief and precise in your answers. 

Draw neat and labelled diagrams, wherever 

necessary. 

Part—I 

(ANIMAL PHYSIOLOGY) 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 6. 

1. (a) Define the following terms : 
	-leach 

(i) Essential fatty acids 

(ii) Ammonotelism 

611 (842) P. T. 0. 
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(b) Fill in the blanks : 2  each 

	 are secreted by the body and 

influence the behaviour of the other 

members of the species. 

(ii) Shape of the myoglobin dissociation 

curve is 	 

Sinoatrial node is called 	 of the 

heart. 

(iv) Primitive are the excretory organs in 

acoelomates and pseudocoelomates. 

(c) Expand the following : 	 I. each 

(i) CCK 

(ii) ATP 

2. (a) Describe the various formed elements of 

the blood and their functions. 	 4 

(b) What is open circulatory system ? 	1 
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3. Explain the structure of gills and mechanism of 

gas exchange in fishes. 	 5 

4. Explain the regulation of hormone secretion 

using the example of thyroid hormones. 	5 

5. Draw a labelled diagram of a typical nerve oelL 

What is membrane potential ? 	 3 + 2 

6. Write short notes on any two of the following : 

24  each 

(a) Amoeboid movement 

(b) Excitation of mammalian heart • 

(c) Non-shivering thermogenesis 

P. T. 0. 
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Part—II 

(PLANT PHYSIOLOGY) 

Note : Question No. 7 is compulsory. Attempt any 

four questions from Question Nos. 8 to 12. 

7. (a) Fill in the blanks in the following 

sentences : 	 1 each 

(i) In C4 plants first product of CO2 

fixation is 	  

(ii) Calcium deficiency is characterised by 

reduced growth of 	tissue. 

(b) Choose the correct alternative from the 

words given within brackets : -1 each 
2 

(i) (Mn/Mg) 	deficiency 	causes 

disorganisation of the lamellar system 

of chloroplast. 
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(ii) Nitrate assimilation in most higher 

plants occur mainly in (roots/leaves). 

(c) Define any two of the following terms : 

1 each 

(i) Osmosis 

(ii) Water potential 

(iii) Stomata' index 

8. Describe the role of photosystem I and 

photosystem II in light reaction during 

photosynthesis. 	
5 

9. What are the criteria of essentiality of nutrient 

elements in plants ? Describe the role of any 

one macronutrient. 	 5 

10. (a) Discuss the role of ethylene in plants. 	3 

(b) Write a note on vernalisation. 	2 

P. T. O. 
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11. Describe the type of senescences found in 

plants. Discuss, how this phenomena is 

regulated. 	 5 

12. Write notes on any two of the following : 

21 each 

(i) Role of abscissic acid in plants 

(ii) Properties of phytochrome 

(iii) Biological clock 
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(ii) ATP 
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